1s, 10s, 100s, 1,000s

1. Starting with the number below,
complete the calculations.

4. Tariq thinks of a number.

VF

. . . | add 400 to it, subtract 3,000, .
m subtract 7, then add 500. My O
. answer is 2,355. :
Tariq
« Add 500 . o
. Subfract 3,000 What number did he start with?
« Add70
What is the final answer?
VF PS

2. Match the calculation to the correct 5. Select 4 digit cards to create a
answer. sequence.

s 2 M)
A Add 3,000 to 5,704, then 2 422 1,345 13,345| 15,345 |1,545

’ subtract 600. !

\_ J \. J/

s 2 M)
B Subtract 400 from 2,880, 8106 4,345 [1,445! [2,345! (1,645

' then add 2,000. ’
\_ J . J/
s 2 M)
Add 90 to 6,532, then

c. subtract 4,000. 4,480

\_ J \. J/

PS

3. Find the final number using the function
machine.
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6. Tamara says,

Uy When | subtract 4,000

- from 7,601, | get 7,201.
L
Tamara

Correct Tamara’s answer and explain her
mistake.
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1s, 10s, 100s, 1,000s

1.2,214

2. A: 8,106; B: 4,480; C: 2,622

3. 3,998

4.4,462

5. Various answers, for example: 5,345; 4,345; 3,345; 2,345

6. Tamara'’s correct answer is 3,601. She has subtracted 400 rather than 4,000
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